
WORKSHEET-B.STUDIES 

1. Krishna Furnishers Mart started its operations in the year 1954 and emerged 

as the market leader in the industry because of their original designs and 

efficiency in operations.They had a steady demand for their products but over 

the years, they found  heir market share declining because of new entrants in the 

field. The firm decided to review their operations and decided that in order to 

meet the competition, they need to study and analyze the market trends and then 

design and develop their products accordingly. List any two impacts of changes 

in business environment on Krishna Furnishers Mart’s operations. 

 

2. National Digital Library of India (NDL India) is a pilot project initiated by 

the HRD ministry. It works towards developing a framework of virtual 

repository of learning resources with a single-window search facility. It 

provides support to all academic levels including researchers, life-long learners 

and differently-abled learners free of cost. State the dimensions of business 

environment highlighted above. 

 

3. The government of India announced Demonetization of ` 500 and ` 1,000 

currency notes with effect from the midnight of November 8, 2016. As a result, 

the existing ` 500 and ` 1,000 currency notes ceased to be legal tender from that 

date. New currency notes of the denomination of ` 500 and ` 2,000 were issued 

by Reserve Bank of India after the Announcement This step resulted in a 

substantial increase in the awareness about and use of Point of Sale machines, e-

wallets, digital cash and other modes of cashless transactions. Also, increased 

transparency in monetary transactions and disclosure led to a rise in government 

revenue in the form of tax collection. 

a. Enumerate the dimensions of business environment highlighted above. 

b. State the features of Demonetization. 

 

4. SanakLal and Gagan started their career in Wales Limited (a printing press) 

after going through a rigorous recruitment process. Since they had no prior 

work experience, the firm decided to give them one year to prove themselves. 

Name the principle of management followed by Wales Limited. 

 

5. ‘Bhasin’ limited was engaged in the business of food processing and selling 

its products under a popular brand. Lately the business was expanding due to 

good quality and reasonable prices. Also with more people working the market 

for processed food was increasing. New players were also coming to cash in on 

the new trend. In order to keep its market share in the short run the company 

directed its existing workforce to work overtime. 

But this resulted in many problems. Due to increased pressure of work the 

efficiency of the workers declined. Sometimes the subordinates had to work for 



more than one superior resulting in declining efficiency. The divisions that were 

previously working on one product were also made to work on two or more 

products.  

This resulted in a lot of overlapping and wastage. The workers were becoming 

indisciplined. The spirit of teamwork, which had characterized the company, 

previously was beginning to wane. Workers were feeling cheated and initiative 

was declining. The quality of the products was beginning to 

decline and market share was on the verge of decrease. Actually the company 

had implemented changes without creating the required infrastructure. 

 

a. Identify the Principles of Management (out of 14 given by Henry Fayol) that 

were being violated by the company. 

b. Explain these principles in brief. 

c. What steps should the company management take in relation to the above 

principles to restore the company to its past glory? 

 

6. Identify and state the force that binds all the other functions of management. 

 

7. Indian Railways has launched a new broad gauge solar power train which is 

going to be a path breaking leap towards making trains greener and more 

environment friendly. The solar power DEMU (Diesel Electric Multiple Unit) 

has 6 trailer coaches and is expected to save about 21,000 liters of diesel and 

ensure a cost saving of Rs 12, 00,000 per year. 

Name the objectives of management achieved by Indian Railways in the above 

case. 

 

8. Company X is facing a lot of problems these days. It manufactures white 

goods like washing machines, microwave ovens, refrigerators and air 

conditioners. The company’s margins are under pressure and the profits and 

market share are declining. The production department blames marketing for 

not meeting sales targets and marketing blames production department for 

producing goods, which are not of good quality meeting customers’ 

expectations. The finance department blames both production and marketing 

for declining return on investment and bad marketing.  

State the quality of management that the company is lacking? Explain briefly. 

What steps should the company management take to bring the company back on 

track? 

 

9. Ashita and Lakshita are employees working in Dazzling enterprises dealing 

in costume jewellery. The firm secured an urgent order for 1,000 bracelets that 

were to be delivered within 4 days. They were assigned the responsibility of 

producing 500 bracelets each at a cost of Rs 100 per bracelet. Ashita was able to 

produce the required number within the stipulated time at the cost of Rs 55,000 



whereas, Lakshita was able to produce only 450 units at a cost of Rs 90 per unit. 

State whether Ashita and Lakshita are efficient and effective. Give reasons to 

justify your answer. 

 

10. A firm plans in advance and has a sound organisation structure with 

efficient supervisory staff and control system but on several occasion it finds 

that plans are not being adhered to. It leads to confusion and duplication of 

work. Advise remedy. 


